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Choose the best answer.

Cause of nightblindness is: P S A
S St
b) u{d/glgft’)
ALt

D SSIets
Which is pentahydroxy aldehydes of the following

a)Deficiency of vitamin B

b) Deficiency of vitamin A
¢) Deficiency of vitamin D
d) Deficiency of vitamin E

e U S T

a) Starch b)Glucose a) Gk b)y
c)Fructose d) Sucrose )i Q) S

3 Our planet earth consists of . ..... natural spheres: - ‘LJ'::/ 4 /’.;V ‘3 IR yo
a)l b)4 a)l b)4
)6 d)8 c)6 d)8

* Infrared radiation emitted by the earth are Srro s J/ ISk PIYdnllo e i
absorbed by? fur
a) CO_H,0 bN, 0, a) CO,,HsO0 bN,O,
c)CO,,N, d) 0,,CO, c)CQ,, N; d) 0,,CO,

’ Temporary hardness is because of: ?‘Ldﬁ G?’J Lf/ VRS
2)Ca(HCO), b) CaCoO, #Ca(HCO,), b) CaCO,
¢) MgCO, d) MgSO, ¢) MgCO, d) MgSO,

® The bond angle between H-O-H_iniwater is: e by S LU<H-O-HU- d,L,

0 0

a) 104.5 b)104.6 . a) 104.5 )104.6"
¢) 1047 D104 ¢) 104.7° d)104.8"

7 Which one of the followingZorganic compound V@E&Utdgf[ffg{u@TVdfcu:JJeJﬂ

1s found 1n gasoline:

-8
a)C,H, b)C,H, 2)C.H, bIC.H, ‘
¢)CH,, d)C H,, OCH, dC H,
8 The impurities associated with the minerals are (O s S =
known as:
a) Metallurgy b) Ores a) S b) Jsss!
¢) Gangue d) Compounds o) L d) ks
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